B : THIS DETAIL SHOWS ONLY CHANGES
’EOOF SHEATHING FASTENING TABLE (RAFTER /| TRUSS SG = 0.49) ENGINE%IEE{DTLT}%SSSSELIFT TO THE TYPICAL WALL SECTION IF CONNECTOR TABLE GEN ERAL NOTES:
Sheathing Nal eacing | Nail sPacing NAIL 0SB TO OR NAIL OSB TO LOWER TOP PLATE & . Q USING RODS FOR UPLIFT _
Wind Thickness  |Required nopac i |along intermediate UPPER TOP PLATE STRAP TRUSS TO LOWER TOP PLATE TRUSS TO TOP PLATE —— AR Uplift SP[Uplift SPF [Truss Connector To Plate To Truss/Rafter TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN
Speed  |Plywood |Nail edges  [supportsin the (F POSSIBLE) () 131X 1147 TOE NAILS 805 505 |SDWC15600 ' : DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS
anel field - - ; : A
e p a 7 ; 415 290 H3 4-8dx1 1/2 4-8dx1 1/2 TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR
12080 76" ?25;%‘?. Tgﬂ;f)sRS” 6" oc 12" oc ) 2t %’SU?L”EDT?Siﬁ%ﬁ%EOD 615 540 H2.5A 5-8dx1 1/2" 5-8dx1 1/2" ALL BEARING LOCATIONS. TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE
p. - : . : - - TRUSS MANUFACTURER AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S
120 mph |7/16" ASTM F1667 RSRS-01 (6" oc 6" 0c SEE TABLE FOR ————— A 1; (SEE NOTE BELOW FOR SPACING) 0 A5, HIGA S-10c1 1ie > 1t tis DESIGN ENGINEER. IT IS THE BUILDER'S RESPONSIBILITY VERIFY THE TRUSS DESIGNER
ROOF SHEATHING SEE Exp. C (28/87 % 0.413%) H =1 — STRAP OR SCREW (2) 2X_ SPF #2 TOP PLATE 720|620 LTS12-20 6-10d1 12" 6-10d1 172" FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO SELECT UPLIFT CONNECTIONS
- = . LTS1 " 7/16" OSB FULLY BLOCKED g - : . BASED ON TRUSS ENGINEERING UPLIFT AND PROVIDE FOOTINGS FOR INTERIOR BEARING
7 6 6" oc @ CORNERS 1000  |860 MTS12-30 7-10d1 1/2 7-10d1 1/2
ROOF SHEATHING FASTENING TABLE 120 mph  [19/32 251'5;1 21351?31F§SR5 03 o H2.5A i 12-10d X 1 1/2* & SEE TABLE FOR SPACING 8d @ 6" OC EDGE 12" OC FIELD - - WALLS. BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
2 o i eer RaRS 04 oR (6) NAILS IN (UPLIFT BLOCKING NOT REQUIRED) 1460|1245  |HTS20-30 121001 1/2 124041 12 REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS
PRE-ENGINEERED WOOD ROOF TRUSSES 3" x 0.120") SDWC15600 LOWER TOP 3/8" THREADED RODS = 2X SPF #2 STUDS Uplift $P|Uplift SPF |Strap Ties To One Member | To Other Member WITH MIN. UPLIFT CONNECTION 415LB EACH END; 2X8 RAFTERS 700 LB EACH END.
AT 3¢ 0,C. SELECT TRUSS CONNECTORS o z Up 10 5008 PLATE AT §-4" OC MAX CAN SEE STUD TABLE L@ o oC R o 1235  [1235  |LSTA21 8-10d 8-10d
FROM THE ANCHOR TABLE 130 mph |7/16" ASTM F1667 RSRS-01 |6 oc 6" oc LBLiET BE USED AS THE 3/8" ANCHOR @ 32" OC MAX \ SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN
PER TRUSS UPLIFT LOADS Exp. B (2 3/8" x 0.113") = ‘ s TgTszo # UPLIFT CONNEGTION AND WITHIN 8" OF CORNERS AND 1640  |1455  |MSTA24 g-10d g-10d
(EITHER STRAPS OR SCREWS MAY BE USED) 130 mph | 15/32" ASTM F1667 RSRS-01  |6" 00 6" oc i by by Lo o 2X PT SP#2 PLATE BACH 0= OF QREl 02 s 1030|1030 |cs20 7-10d 7-10d FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET
" x 0.113" : - g A - > GRAVITY LOAD REQUIREMENTS (ASSUME 1500 PSF BEARING CAPACITY UNLESS
Exp. C (2 3/8" x 0.113") : 1 DisT & 3/8" MIN. VERT. SEE TABLE FOR 1/2" X 10" ANCHOR BOLT ONE OF THE FOLLOWING ANCHORS: Uplift SP|Uplift SPF |Stud Plate Ties To Stud To Plate " R OILS(TE T PROVES OTHERWISE
130 mph  |19/32" ASTM F1667 RSRS-03  [6"ac 6" oc EDGE DIST ggggﬁgﬂssCREW 2" X 2" X 1/8" WASHER THREADED ROD. 6* EMBED IN SIMPSON AT OR SET: e =5 5 T T8 VISUAL OBSERVATION OR S s )
T - " ' E TABLE FOR SPACING v EME ! -
RIRnERERPOTLE TR RAR ey e gg?)RSRS—M 7/16" OSB FULLY BLOCKED & SEE TABLE FOR SPACING g@ﬁimm CORNERS TITEN HD, 6" EMBED 1065 605 sP2 6-10d 6-10d CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 2500 PSI.
Lok . 2X4 SPF #2 FROM TOP PLATE TO BOTTOM PLATE 3/8" x 8.75" TITEN HD w/ COUPLER THD37634RC,
TRUSS TO TOP PLATE (8" =0.920) . BLOCKING W[ 8d @ 3" OC EDGE 12" OC FIELD i 1 3/4* MIN. EDGE DISTANGE (TYP.) T LSTA4 i010e wrap under or over plate| || pep WIRE REINFORCED SLAB: 6" x 6" W1.4 x W14, FB = 85KSI, WELDED WIRE
(4) .131"X3 1/4” TOE NAILS 140mph |7/16" ASTM F1667 RSRS-01 6" oc 6" oc & SHEATHING : 1235|1235 LSTA24 14-10d wrap under or over plate REINFORCEMENT FABRIC (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE
Exp. B CELIBal L 1 = SPLICE MAY BE OMITTED IF FULL RODS IN WALL Uplift SP|Uplift SPF|Holdowns @ Stemwall |To Stud / Post  |Anchor gg;*:g E;EEEESDUA’IPORTED WITH APPROVED MATERIALS OR SUPPORTS AT SPACINGS
g 140 mph |19/32" ASTM F1667 RSRS- " oc oc . / HEIGHT SHEATHING COVERS - > - - .
Exp. C 1 =081 i UPPER TOP PLATE & BOTTOM INTERIOR BEARING WALL UPLIFT STRAP OR SCREW TABLE FOR UPLIFT OPTION 1825 1800  |DTT2Z 8-SDS 1/4"x1 1/2* [1/2°x12" Titen HD
or ASTM F1667 RSRS-04 GAP @ - A4 . , : - 4235  |3640 HTT4 18-16dx2 1/2"  |1/2"x12" Titen HD FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER
oot o o T A o S S e s 1o ot e G B X et e
ol et e e i e R == 3:" gg g: 5 ?s" gg 32'0C #l > 1626 _|w6c0  |DTTZZ 8-50S 1/4"1 1/2" |1/2'%6" Tien HD FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER TO PROVIDE ASTM C 1116 '
24" MAX l Exp.D e A!sz'r:n riy o - —— A 454 pif Lails 1{:1 T SI;@WC‘lSéSﬂ T T j i T \ 4235 |3840  |HTT4 18-16dx2 172 |1/2°x12" Titen HD CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL.
NOTE: ¢ ¥ o i i 7/16" OSB 223 plf (2) SDWC15 J e ; L
SEAL ALL PENETRATIONS L) - ; 336pf  |(2) SDWC15600 @ 32" OC |(3) SDWC15450 @ 32" OC|48" OC o i i e A | TEREIR UpiBt P |upiint 8P Fest Benis @ Slamwalli To Post A CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL
IN TOP PLATE AND FIRE 150 mph | 19/32" ASTM F1667 RSRS-03 6" oc 6" oc 0d @ 48" OC |LSTA24. 14-10d @ 48" OC |48" OC O i i 1900 ABU44Z 12-16d 5/8"x12" Drill & Epoxy BE CUT IN ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB
STOP BLOCKING WITH CODE Exp. C (2 172" x 0.131") opr  [LSTAM, 1414 @ i it ) ) ) 2475 ABUBGZ 12164 5/8"x12" Drill & Epoxy PLACEMENT. THE LENGTH / WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND
APPROVED SEALANT or ASTM F1667 RSRS-04 Jiioe Uniey e P - X X X e e = S oy TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT CUT WWM OR REINFORCING STEEL.
(3" > 0.120") 465 pif LSTA24, 14-10d @ 32" OC |LSTA24, 14-10d @ 32" OC |32" OC 1 i ) P P ost Bases @ Mono 0 fron floun (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJECT TO OWNER AND
: z 2 g » Wrap Over Plate . S 5 3 N 1900 ABU44Z 12-16d 5/8"x7" Drill & Epoxy CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT
NOTE: IF TRUSS BEARING LOAD 150 mph | 19/32 ASTM F1667 RSRS-03  |4"oc 4"ac Wrap Under Plate T T T
EXCEEDS 425 PS| USE SYP #2 Exp. D (2 112" x 0.131") i 1  ROTASED T PAGE &6 J 2475 ABU66Z 12-16d 5/8"x7" Drill & Epoxy CRACKS BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ONA GIVEN LINE.)
TOP PLATES; IF IT EXEDS 565 PSI or ASTM F1667 RSRS-04 3/8 ‘ ) )
ADD ADDITIONAL BEARING BLOCKS OR (3" = 0.120") SHE ATH IN G FOR UPLI FT OPENING UPLIFT STRAPPING REBAR: ASTM A 615, GRADE 40, DEFORMED BARS, FY = 40 KSI. ALL LAP SPLICES 40 * DB
USE SINPEON THE BEANDIS SmANCER Note: For sheathing located a minimum of 4 feet from the perimeter edge of the roof, including 4 feet (TYP.) INTERIOR BEARING WALL (SEE PLAN FOR LOCATION) (25" FOR # BARS) UNC. ALL REINFORCEMENT SHALL BE DETAILED AND PLACED IN
on each side of ridges and hips, nail spacing is permitted to be 6 inches on center along panel edges ATTAC HM ENT DETA' LS :
and 6 inches on center along intermediate supports in the panel field. Nlota: This table spec!ﬂas the ——— ONE STORY WOOD FRAME w/ STRAPS & ANCHORS e e e ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS; SHEATHING,
2x4/6 SPF#2 STUDS code minimum thickness of roof sheath?ng. The thickness of the ShBBu"IIII'IQ may need to be increased ONE STORY WOOD FRAME " 1l P UNBLOCKED, APPLIED PERPENDICULAR TO FRAMING, OVER A MINIMUM OF 3 FRAMING
SEE STUD TABLE based in the lype of roofing material being used. See manufacturer Flarida product approval. THIS DETAIL SHOWS ONLY CHANGES MEMBERS, WITH PANEL EDGES STAGGERED.
TO THE TYPICAL OPENING DETAIL
2X4 OUTLOOKERS @ 24" OC IF USING RODS FOR UPLIFT STRUCTURAL CONNECTORS: MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS,
SEE RODS FOR UPLIFT / FOR OVERHANGES 12°-24° USE ADROPED GABLE TRUSS WITH ATTACH TO TRUSS w/ ENGINEERED TRUSSES ) i £ ANCHORS, AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT.
INSTEAD OF SHEAHING 2X4 OUTLOOKER @ 24" O.C. w/ H2.5a TO GABLE TRUSS gﬁ*‘% S (4) .131"X3 1/4" TOE NAILS ATTACH PER TRUSS UPLIFT AN EQUIVALENT DEVICE OF THE SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED
FOR UPLIFT DETAILS (411813 26" HAILE 70 2nd TRUSS (81 OCH RETWEEN ) FOR ANY DEVICES LISTED IN THE EXAMPLE TABLES AS LONG AS IT MEETS THE REQUIRED
LOAD CAPACITIES. MANUFACTURER'S INSTALLATION INSTRUCTIONS MUST BE FOLLOWED
FULLY BLOCKED. SRR 2X4 LOOKOUT BLOCK @ 24" OC PORCH HEADER OPTION TO ACHIEVE RATED LOADS.
SEE STRUCTURAL PLAN
N rEn S —__ HEEAGH DU OORER RODS AT OPENINGS FOR UPLIFT OP ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN
; : DRAWINGS BUT NO LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR
SEE SHEATHING FOR — ROOF SHEATHING NAILS EATHING \ S 1% Dy GROUTED oull
URLIFTATIACENE DI L - T A (2) LSTA24 w/ (8) 10d TO HEADER & (8) 10d TO POST 2 :
' ' i \ 7 ! BUILDER'S RESPONSIBILITY:
12 TR NOTCH HEADER INTO POST S5 ! THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE
MAX ; g (1 3/4" MIN. REMAINING POST THICKNESS) ’ : SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK.
Wilaas \i/ 10 DECH SCteNe . ' CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND
A T O e o s NALS = TOP EOGE AND BOTTOM EDJE OF BEAM : BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE
WITH BX8:1.4/1.4 WELDED WIRE NEEH AND: NALL TO BLOCKING AT TOP CHORD & - w/ 2" MIN THREAD PENETRATION INTO HEADER - ' ; . .
PLACED ON CHAIRS AT 1 1/2" DEPTH OR BOTTOM CHORD AND RAT RUN @ 6' O.C. NAILED // 3/8" ROD USED IN PLACE OF PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY
FIBER MESH CONCRETE, 6-MIL POLY VAPOR ¢ " D oe e | BLOCKIS P 6X6 SP #2 POST OR OPENING UPLIFT STRAPPING WITH FBCR REQUIREMENTS FOR THE STATED WIND VELOCITY AND
BARRIER WITH 6" LAPS SEALED WITH 7/16" OSB 8d 3" O.C. —= X A 4X4 SP#2 POST (SEE MO NOTCH NOTE BELOW) L |- TION | L DESIGN PRESSURES.
POLY Tare OVER TERMTESIREATED o s iy ErAs, BRAGE NOT NAILED SOTTOMGHORD, | 2z ABEE FLANFORLOCATICH) - PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU
AND COMPACTED FILL ATTACH RATRUNTO o (g A Wl 131X3 1/4* @ 6* OC ABU POST BASE w/ (12) 16d & 5/8" ANCHOR A1 | BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL
w/ ' z (2" MIN. EDGE DIST) _ ' . THE WIND LOAD ENGINEER IMMEDIATELY.
BLOCKING MAX SPAN 7' OR 12' IF
(- AERRNALS (4).131"X3 1/4" "T" BRACED i ig'%ng%!grg‘gg“{gg:ﬁgg?m VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS
2X_PT SP #2 PLATE NAILS "3 1/4" PORCH POST CONNECTIONS o — DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
1/2° X 10" ANCHOR BOLT TOE NAIL TRUSS [ - EXTERIOR SHEATHING . S IF USING RODS FOR UPLIFT TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL
| 3" X 3" X 1/4" WASHER T0 TOP PLATE / . Upiifti Post O ~ONpacON: [OTom Loneecn - BEARING LOCATIONS.
32" OC & 8" FROM CORNERS " 2475|6x6 SP #2 PT|(2) LSTA24 ABUB6Z
# e 124@5"0C. = i 1 BAT5 /80 SPEEFTICILATAS: e RODS AT BEAM TO WALL FOR UPLIFT OPTION e
SIMPSON LSTA24 —J L . ; . Al =
! ; DS MUST BE CONTINUOUS THE SEAL ON THESE PLANS FOR COMPLIANCE WITH FBCR,
bt A RORNECTION wi 6) 1313 14* NAILS | /N7 W BETWEEN POINTS OF POSTS CUT FLUSH WITHOUT NOTCH - BRACE TO PREVENT ROTATION: - 3/8" THREADED RODS CAN BE USED AS THE UPLIFT CONNECTION IS BASED ON REACTIONS, UPLIFTS, AND BEARING LOCATIONS IN 3 3
g el TOW i LATERAL SUPPORT IN PLACE OF USING THE SHEATHING FOR UPLIFT TRUSS ENGINEERING SUBMITTED TO THE WIND LOAD ENGINEER. IT IS ot > W o
(3 174" SEE STUD TABLE EAVE / HIP ROOF: i THE RESPONSIBILITY OF THE BUILDER TO CHECK ALL DETAILS OF THE o
| SIMPSON (4) .131"X3 1/4" NAILS “STRAP TRUSS w/ H2.5A OR EQUAL TO EACH SIDE OF HEADER (FRONT & BACK) RODS ARE TO BE USED INSTALLED PER THE DETAILS ABOVE COMPLETE ROOF SYSTEM DESIGN SUBMITTED BY THE TRUSS o L O g
SDWC15600 (8) .131"X3 1/4" NAILS USE LONGER STRAP AS NEEDED IF TOP PLATES ARE INSTALLED - THE ROD LOCATIONS ARE TO BE AS SHOWN ON STRUCTURAL PLAN MANUFACTURER AND HAVE IT SIGNED, AND SEALED BY A DESIGN . = > - E
- ONE STORY WALL S ECTION @48"0.C. UN.O. 2X4 SPF#2 BLOCKING (FIRST BAY ONLY) - (2) LSTA24 16-10d OR (2) MTS20 14-10d ON FRONT AND REEAR OF POST TO HEADER TYPICAL ROD PLACEMENT IS TO BE: PROFESSIONAL FOR CORRECT APPLICATION OF FBCR REQUIRED () = Ty 0 & ]
H3 INSTALLED HORIZONTALLY - ATTACH HEADER TO POST w/ (8) .131" x 3.25" TOE-NAIL 5'-4" OC MAX IN MAIN WALLS (FULL UPLIFT) LOADS AND ANY SPECIAL LOADS. THE BUILDER IS RESPONSIBLE TO ..6 w =) 8 o _g o
SCALE: 3/4" = 1"-0" GABLE END: 5 8-0" OC MAX IN GABLE WALLS / JACK TRUSSES (LOW UPLIFT) REVIEW EACH INDIVIDUAL TRUSS MEMBER AND THE TRUSS ROOF 2 g = o5 B
- EXTEND GABLE SHEATHING TO BOTTOM OF HEADER NAILED WITH 8d NAILS @ 6" MIN. SYSTEM AS A WHOLE AND TO PROVIDE RESTRAINT FOR ANY LATERAL o N o o [
SPACE RAT RUN & DIAGONAL BRACE 6'-0" O.C. INTO TRUSS BOTTOM CHORD AND INTO BEAM AT 1 1/2" FROM TOP & BOTTOM EDGE J EACH SIDE OF OPENINGS THAT REQUIRE UPLIFT STRAPPING BRACING. THE BUILDER SHOULD USE GARE CHECKING THE ROOF = ' L] E gL g
FOR GABLE HEIGHT UP TO 25'-0" 130 MPH, EXP. C, ENCLOSED - ATTACH HEADER TO POST w/ (8) 131" x 3.25" TOE-NAIL EACH SIDE OF EACH CORNER DESIGN BECAUSE THE WIND LOAD ENGINEER S SPECIFICALLY NOT U:‘J z Y sfZ 8=
(TYP.) GABLE WALL w/ VAULTED CEILING | (1yp) PORCH POST AT BEAM TO WALL CONNECTIONS RESPONSIBLE FOR THE TRUSS LYOUT WICH WS CREATeD oY T 5 <X £§S g5
N — — . Jdx Qoo
(TYP.) GABLE BRACING DETAIL RODS FOR UPLIFT INSTEAD OF SHEAHING RESPONSIBILITY FOR THE LAYOUT PER NOTES ON THEIR SEALED O Wi 3 :q S
WOOD FRAME . ol E g & 3
o OPTION: 1 (BUCKET) : OPTIONI: 2 (POCKETED EXTERIOR WALL STUD TABLE FOR SPF #2 STUDS: E —_ 2 E'—-'I'
—— SEE "STRUCTURAL PLAN NOTES" ———— : RGN < %
AL GTHER SISARING OF 8 REw ' 77 NOTE: Uplif Top Connection __ {Batlom Connection AD BEARING & NON LOAD BEARING STUD LENGTHS 8
=i IS NOTED ON STRUCTURAL PLANS (2) 2X_SPF #2 TOP PLATE —— ==} IF TRUSS TO BEAM up 1085010 |(2) SOWC15600 |(3) SOWC15450 ngﬁﬁ?é—%nﬂ povis EXTERIOR AMD 1125 GYR RLTORION S
; : sl ol | BEAM/ 47 byt I Mt ot S RESISTING INTERIOR ZONE WINDLOADS, 130 MPH, EXPOSURE C
Option Upllft TOP Connection Bottom Connection o \.\ E o s ICR)EB:?;: ;g;‘?fl‘;ED é up to 11251b |HTS16 IGVSTAz4.d14-1?? STUD DEFLECTION LIMIT H!24D (NOT OK ’FOR BRIT’TLE FIN‘SH). !
0 h king stud to bottom plat rap under plate
] i Nl i ko 155 g, ) S SENCTBARG, Mo o | i Vs wl anchor bolt within 6" STUD SPACINGS SHALL BE MULTIPLIED BY 0.8 FOR FRAMING
o T oo o @ PANEL EDGES % - - - #1 <510l (1) Simpson SDWC15600(1/2" x 10" Anchor bolt w/ 3° x 3" x 1/4" washer A TOFAGE | o 22501 | HTSTe = LOCATED WITHIN 4 FEET OF CORNERS FOR END ZONE LOADING.
Q \_(5) 131"X3 1/4" TOE NMLED_/ must be located within 6" of king stud @ all door locations 10-10d TO JOIST I TOE-SCREW (END ZONE EXAMPLE 16" 0.C. x 0.8 =12.8" 0.C.)
g OR BACK NAILED THRU #2 |<895|Atiach king stud to top plate [Attach king stud to botiom plate S SRAEEEN MULTI PLY GIRDER TRUSS HOLD DOWN TABLE (1) 2x4 @ 16" OC TO 10-1" STUD HEIGHT
8d 3' OC @ PANEL EDGES ° T KING STUD INTO HEADER w/ (2) Simpson SDWC15600 ‘;;'2 (;’2 ?{'Jmim 35;‘;‘1%?;52 i : BEAM Uplift Top Connection Bottom Connection (1) 2x4 @ 12" OC TO 112" STUD HEIGHT
_____ | ey | PR PR | e ) ‘ -
8d 12" OC NOT @ PANEL EDGES = 8 E|[pzzzz=" STmEsEsIoIToosiocIonn must be located within 6" of king stud @ all door locations ! EESE(ETTIED upto 11251 [HTS16 lwsr:ﬁi.;;-; Iq;tle (1)2x6 @ 16" OC T0 15-7" STUD HEIGHT
- g \ -
= SHEATHING MUST BE NAILED TO TOP PLATES - -
é 8 w/ 8d 3" OC (NAILING MAY BE STAGGERED) HEADER STRAP TABLE : TIOP PLATE w/ anchor bolt within & (1) 2%6 @ 12" OC TO 17'-3" STUD HEIGHT
0sB 3 - 2X4 BLOCKING W Z ||| &SHEATHING NAILED TO HEADER Option|Uplitt |Top Connection Bottom Connection | upto 17001b  |(4) SDWC15600 HTT4
" BETWEEN STUDS ~ = ||| w (2)Rows OF 8d @ 6" OC LSTA24, 14-10d wrap under plate ! (DROPPED BEAM) (2) Each Ply
X @ 16" OC VERTICALLY B % #3  |<1235|LSTA24, 14-10d wrap over plate | 1/2" x 10" Anchor bolt w/ 3" x 3" x 1/4" washer o BEAM TO BEAR ON — P uwp 022501 |(2) HTS16 HTT4 GRADE & SPECIES TABLE
A ; EESACE}E I\Tos( T1‘{?P ;QAILS 3 sz ALL HEADER JACK & KING STUDS SHALL must be located within 6" of king stud @ all door locations (2) 2X_SPF#2 JACKS N TRl:lss B i i up t0 3375 Ib (3)HTS18 HTT4 b | E
> . = 8 g BE FASTENED TO EACH OTHER w/ (2} ROWS #a < 1455|MSTA24, 18-10d header to iacks DTT2Z y : L STRAPS ARE NAILED //
5B E®3 ||| 10d @8 OC STAGGERED #5  |< 1800|(2) MSTA24, 18-10d header to jacks |DTT2Z i VORI FULL HEIGHT 3/8" THREADED RODS 2x8 SP #2 925 (1.4
= "
INTERIOR SHEARWALL — g © = #6 < 2910|(2) MSTA24, 18-10d header to jacks [HTT4 LSTA24, 14-10d ————— SHEATHING NAILED & WITHIN 4" OF TRUSS 2%10 SP #2 800 1.4
= | 2X_ FULL HEIGHT STUDS (TYP)) L | WRAP UNDER PLATE 26 TP A RTES 6 00 CAN BE INSTALLED IN PLACE OF BOTTOM
(4) 131"X3 1/4" NAILS - | [ Sttt ettt = OR INAILING IAY BE STAGGERAD HOLDDOWN FOR MAX UPLIFT LOAD OF: 2x12 SP#2 750 |1.4
INTO EACH 2X4 BLOCKING A i N J SILL PLATE SPANS FOR 10'-0" WALL HEIGHT ATTACH STUD PACK g'r. SHEATHING NAILED TO HEAQER 2100 LBS FOR 1 3/4" EDGE DIST. GLB 24F-V3SP _ 12600[1.9
ATED @ 16" OC L WINDOW SILL PLATE —~ MAX. SPANS FOR SPF #2 BASED ON WFCM - 2700 LBS FOR 4" EDGE DIST. = ;
LOCATED @ T B DESIGN : B TOR0 IS = w/ (2) RO OF 84 @ €~ OC RODS w/ 8" MIN SPACING BETWEEN RODS
' 1 (PER TABLE BELOW) 1! WIND SPEED | (1)2x4 | (@)2x4 | (1)2x6 | (2)2x6 | "o-EASZ w/ (6) SIMPSON SDWC15450 LLSTA24 ARE NOT REQUIRED 7 g LSL |TIMBERSTRAND|1700/1.7 Mark Disosway FL PE 53915
E TOE NAIL ENDS OF EACH PL‘é Wi B e (3) EACH STUD CAN BE USED FOR DOUBLE LOAD) T
= | 2x4 = " x 3.25" NAILS | :
8d 3" OC @ PANEL EDGES = | 2X4 = (4) 131" x 3.257 — — | HEIGHTS (H) SILL
. NEL EDGES & | 2x6 = (6) .131"x 3.25" NAILS | 130MPHEXP.C| 6-2" 79 77 113" | SPAN SHALL BE :
el L i Vi ) Ve DIVIDED BY (H/10) 2X_PT SP #2 PLATE SEE RODS FOR UPLIFT \smn PACK UNDER GIRDER TRUSS PSL| PARALAM  [2900]2.0
112 GWB UNBLOCKED ————= i X Ul 1/2° X 10" ANCHOR BOLT INSTEAD OF SHEAHING USE ONE JACK STUD GIRDER SUPPORT
5d COOLER NAILS | | CRIPPLES IF, REQUIRED | | 3" X 3" X 1/4" WASHER FOR UPLIFT DETAILS PER 2000 LB OF LOAD NAIL EACH PLY
7" OC EDGE 10" OC FIELD i i I WITHIN 3" OF STUD PACK e w/ .131"X3.25" NAILS @ 6" OC STAGGERED
= ' ' SEE RODS FOR UPLIFT ; L
l«—— EXTERIOR WALL | NOTE: USE MIN. OF 1 MORE JACK STUD
L ek :EIC;SFI 'LEJ‘?'DLIS‘:':DSE'FQ&NG ! THAN NUMBER OF PLYS OF GIRDER TRUSS
2 TYPICAL HEADER STRAFING O (TYP.) BEAM TO WALL (TYP.) GIRDER TRUSS HOLD DOWN DETAIL
ONE STORY WOOD FRAME w/ STRAPS & ANC D .
WOOD FRAME | TONAL
- NAILING @ TOP PLATE TO STUD ROOF SHEATHING DESIGN CRITERIA & LOADS: 5 L TTPIARC
- ISPMThAEE SEEIEENGTH iyl iy \/— e PRISREEEEE IgIgFfI%gEkﬁLDING CODE RESIDENTIAL Werinesday, May 22, 2024
1/2" GWB UNBLOCKED 16) .1317X3" NAILS L131"X3 1/4" NAILS SPH_@ S
S - A 54 COOLER NAILS & el 5 & (2) FOR 2X4 CHANGE IN PLATE HEIGHT .. (2023) BERETONE:
ASHXS YA NALS 130 7" OC EDGE 10" OC FIELD (3) FOR 2X6 INSTALLED HORIZONTALLY N CODE FOR DESIGN LOADS ASCE 7.22 Siind Giranslons:superoade sosiel
(4§ Eog 3;‘(2130 / WINDLOADS dimensions. Refer all questions to
- (8) FO (2) 2X_ SPF #2 TOP PLATE 2X4 SPF #2 Mark Disosway, P.E. for resolution.
0SB - T ING IC WIND SPEED 130 MPH ificati
=5 = =\ = 4 ﬁgﬁgﬁ&fgg; A L TRUSSES @ | L TRUSSES@ | ROOF TRUSS BLOCK ?:ssc% i) oo Do not proceed without clarification.
2X_FULL HEIGHT STUDS (TYP.) i \ STAGGERED 24706 — 240G 9 2X4 SPF #2 WIND EXPOSURE C COPYRIGHTS AND PROPERTY RIGHTS:
_’Z.r‘ : ! - MIN. LENGTH 12" BLOCKING (BUILDER MUST FIELD VERIFY) Mark Disosway, P.E. hereby expressly reserves
7 \ - - gfto gz;lig OR 2X6 BLOCKING %i‘*o gm‘g A31"X3 114" T ROOF TRUSS TOPOGRAPHIC FACTOR i uhs comimon law tc;opfydgrl':dts an?hpmdpeﬂy ngl;tiln
it H 1 3 g : w " 0 & - Thi
8d 3" OC @ PANEL EDGES / H || ' % 2;13 ?anim @6"0c @ (BUILDER MUST FIELD VERIFY) :,,:ﬁz pis re;‘,g{,‘uc:d’:,,e?:d o 'zop?:; T:,e:nys
(N " " - X . " " " shviat] "
8d 12" OC NOT @ PANEL EDGES i i o 131°X3 1/4 L AILS EACH e é?é“)gg 4 E 8d@6"0C ..l Neee. RISK CATEGORY Il form or [nanneé mlhouttﬂrfsth:h?k e;_prass written
_____ A o WUE RO 1 S| ENDINTOTRUSS b : SRR iy ENCLOSURE CLASSIFICATION  |[ENCLOSED permission and consent of Mark Disogway.
__________________________ STUD PACK RIQTHE JORFLATE & 7/16" OSB FULLY BLOCKED {Q‘JEE?F'TQ.LE’;?ESS“RE 0.18 CERTIFICATION: | hereby certify that | have
UNDER POINT LOAD " " “ / FROM SLAB TO ROOF DECK, examined this plan, and that the applicable
OUTSIDE CORNER NAIL EACH PLY Qs on 8 @e"oc i 8d 6" OC EDGE, 12" OC FIELD ROOF ANGLE 7-45 DEGREES portions of the plan, relating to wind engineering
@ & 0C STAGGERED ronoe  BEase /|| T N ENemr ,, T St e Resktenins (00
e P OR 2X6 BLOCKING R P C&C DESIGN PRESSURES |SEE TABLE to the best of my knowledge.
W 24" 0C w/ o
L C%“JE’E%"EEESKED > %} 131"X3 1/4" FLOOR LOADING LIMITATION: This design s valid for one
7" OC EDGE 10" OC FIELD ALTERNATE FOR LOWER -1 NAILS EACH ALTERNATE IF TRUSS ALTERNATE IF TRUSSES ROOMS OTHER THAN 40 PSF LIVE LOAD building, at specified location.
CEILING ON ONE SIDE END IN TO TRUSS IS CLOSE TO SHEARWALL SLEEPING ROOM
, ST THE TORELATE SLEEPING ROOMS 30 PSF LIVE LOAD
v, ~7 |_——2X_SPF#2 STUDS ROOF LOADING Mark Disosway P.E.
2X_FULL HEIGHT STUDS (TYP) NS A / e st Bt e e A SEE STUD TABLE FLAT OR < 4:12 20 PSF LIVE LOAD 163 SW Midtown Place
>Ql . 7 : - : : : 'I /_ 7/16" OSB FULLY BLOCKED 4:12TO<12:12 16 PSF LIVE LOAD Suite 1 03
i / 4 o b NOTE: 8d 6" OC EDGE, 12" OC FIELD 12:12 & GREATER 12 PSF LIVE LOAD L .
i NAILING @ SILL PLATE TO STUD | . ake City, Florida 32025
431"X3 1/4" NAILS 12° oc——/ \,g’fg. OC @ PANEL EDGES END NAII%RTOE NAIL ', i F'-"éhgfgg;&:ﬁﬂ&“&ﬁﬁiﬁmﬁn LSTA24, 10-10d SOIL BEARING CAPACITY |1500 PSF 382’754 5419
~ 8d 12" OC NOT @ PANEL EDGES il A Y ' O SRE R TRt BHEARYAALL PER CORNER / WRAP UNDER PLATE FLOOD ZONE THIS BUILDING IS NOT IN THE FLOOD ZONE a 4 il = e @ "
E {8 FOR 2 i i OR isoswaydesign@gmail.com
\ (5) FOR 2xB ¥ . i e COMPONENT & CLADING DESIGN PRESSURES 130 MPH (EXP C) y
) G FoR2x10 || ' ALSO HTT4 HOLD DOWN CAN DO USED IN PLACE s (NOTE: HAVE TRUSS DESIGNER LOAD TRUSS ECTVE ) ONES
OF THE FULL HE : — » y .
) e X i 1/2'X10" ANCHOR BOLT w/ 2" WASHER 32" OC FOR 400 PLF DRAG LOAD) WIND AREA (FT2)  |INTERIOR R S NONALL JOB NUMBER:
F SHEARWALLw/ SIMPSON THD37634RC TO
Xmm 1/2* ANCHOR |90L1$NDATION " INTERIOR SHEAR WALL 0-20 +255(Vasd) -27.7(Vasd) | +25.5(Vasd) -34.2(Vasd) 240600
(TYP-) CORN ER FRAM I NG (TYP) WALL CONN ECT'ONS WITHIN 6" EACH SIDE ONE STORY WOOD FRAME w/ STRAPS & AB 0-20 +42.6(Vult)  -46.2(Vult) +42.6(Vult)  -57.0(Vult) 8_1
= OF PLATE JOINT
WOOD FRAME ONE STORY WOOD FRAME OF 2 SHEETS




